A FORMULA FOR A1

Let A be an invertible n x n matrix.
Let A;; be the submatrix of A formed
by deleting row ¢ and column j.

C;j = (—1)"tI det A;;

is called the (4,7) — cofactor of A.
The transpose of the matrix of cofac-
tors from A is called the adjoint of A,

I.e,
(C11 Co1 . . . Cp1
Cio Corr . . . Cpyo
adjA = | - '

et A



Example:Find the inverse of the ma-

trix )

3 2 -1
A= 11 6 3.

2 -4 0
Solution:

_ (1141|106 3| _

1 3
C1p = (—1)112 5 O|_6’
Ci3 = (—1)1t3 é _2=—16,
2 —1

13241 _

Co1 = (—1) 2 O| 4,




s 42423 1|
Coo = (—1) > 0 | 2,
Coz = (—1)213 g _i = 16,
2 —1
_ (_1)3+1 _
C31 =(—1) 6 3 12,
C3p = (—1)312 i’ _:1% = —10,
_( 1\343(3 2| _
C33 = ( 1) 1 6 | = 16,

and so



: T
C11 Ci2 Ci3
adjA = | C21 Cop (O3

| C31 Czo C33

12 6 —161%
— 4 2 16
12 —10 16
12 4 12 |

= 6 2 —10/|.
16 16 16

det A a11C11 + a12C12 + a13C13
3.1242-64(—1)-(—16)
36 +12 + 16

04.



12 4 12]
6 2 —10
| —16 16

16 |



